Trig Identities

Sin X ™
fan X = —
COS X

sin® x+cos* x=1

1

SseCX=———
COS X > Must be learned
1

COSEC X = ——

SIN X

1 COS X
CotX = =

tanXx sSInXx D

tan’ x +1=sec’ x
, , Come from dividing through (2) by either sin® or cos?.
1+ cot® X =cosec”X
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\_

11.

10. cos3A=4cos® A—3cos A

. 3
tanSAs?’tanA tazm A
1-3tan“ A

(1 sin(A+ B) =sin Acos B + cos Asin B ) )
A+B)= AcosBFsin AsinB
2. cos( ) =C0s ACOSB sin Asin > On Formula Sheet
_|_
; tan(A+ B) = tan A+ tan B
u 1xtan Atan B D )
4. sin2A=2sin Acos A ) )
5. C0s2A=cos® A—sin® A : :
2o A Come from putting A=B into (1), (2) and (3)
s tan2A=_ A
' 1-tan® A »
7 1+cos2A=2cos? A 7 Come from (4) and (5) replacing either:
8. 1-cos2A=2sin? A sin®=1-cos? (7) or cos? = 1-sin* (8) )
(9. sin3A=3sin A—4sin’ A M N

Come from putting B=2A into (1), (2) and (3)




